Short Syllabus

01, Bl TR (0 O Gy oy Y

[Ans: a]
02. ‘A S 9 AN G o (c) Srre (d) SIS
(a) wal: (I (b) B Bifs [Ans: a]
o r af: .
03. ‘GTORY GV ST () 3 R (d) 2
f [Ans: ¢]

(c) faw (d) T=dX
?l

(b) By whom am I called
(d) By whom am I being call?

04. Select the correct passive voice of 'Who is calling me
(a) By whom are I called
(c) By whom am I being called

05.  Which pair contains a misspelled word?

[Ans: a]
(a) apprent, acknowledegment (b) ambassador, accommodation
(c) announcement, assimilation

(d) aggressive, authoritarian
06. Itis dangerous to enter

[Ans: c]

the enemy's camp.

[Ans: d]
(a) through (b) on (c) in (d) into
07. B, A &% (BTF QBT 93 C, B 9T (5T 191 D, E g U =91 5 B 97 (50T IMBT (& AT A2 [Ans: a]
() E () C (c)B d) A

08. T (?) ZIT IS IR (G2

SR o

(a) 65 (b) 63 (€) 75 (d) 83

09. 23X 100° + 24 x 100° + 26 X 100° + 27 X 100° = T©? [Ans: ¢]
(a) 100* (b) 1005 (c) 1008 (d) 1007

10. ST ST “AfTI TSI I CoATeT ATFALTCH 7 [Ans: b]
(a) 3= =t (b) T IH @ ARCs AT  @)IJ|FW

Il FIIE 6- THHHIS TR ¢- TIIFD FATTFA GTSIZT @52 [Ans: ]
(a) SIS (b) FHTIIGE (c) QrAFTOICTer (d) TR

2. 215 By Freoica I R RGHTH pH 7 [Ans: b]
(a) 4.5 - 5.2 (b)5.5—5.8 (c) 6.0 — 6.5 (d)7.0-75

4. Cycas Mt ol erenfofs qreemmne arphos AfTae sm? [Ars: b]
(a) Cycas circinalis (b) Cycas pectinata (c) Cycas revoluta (d) Cycas elongata

B e g ' ol s e I o [Ans: a]
(a) aFeifoTy () ST (d) ST

Qs ARISTTR ST 5% b, ]-
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18, ATSIRST AT 7 TS eI T (T2

[Ans: q]
(a) Broif (b) csFra (c) CFITE (d) Befe=
19. R afirar 2RFEse (RNA @R STt affiers 19@ 36? [Ans: p)
(2) TRPW (b) TRSFR () I (d) SeTfer
20. o 7=- i8R @ribres X' W Wret caret g & T ? [Ans: b)
(a) (BGT® (b) FTAISHIG! (c) ARTSTETD (d) Freseifm
22.  SRIFEHS @ @EG? [Ans: a)
(2) ST 215 (b) CTIR TR (c) TR F19 (d) ©INTTF 13T
26. (N AR AT AT Sefye Are? [Ans: ¢]
(a) Platyhelminthes (b) Arthropoda (c) Cnidaria (d) Echinodermata
27. TIGE @GS UHIE R ArE? [Ans: b]
(a) TR TIsABI (b) s IRsabica  (c) K= A (d) S Topeg
28,  OFTEGR @3 &fSfb (et S awE? [Ans: (]
(a) FFeowe (b) RiZcATEIfRE (c) IR0 (d) 7ot
29. T WIKE T “ARNIE 4 A3y Ae? [Ans: ¢]
(a) 9-10 (b) 11-12 (c) 16-17 (d) 20-21
N 30.  CNRGAT ARATSIRA TSR @ AG? [Ans: 3]
’ y () T (b) BRI ©IR@HAE  (0) SRE™
—e 3. A ARET Sfie Fiied 9Ty @ Hn? [Ans: c]
(a) TN, (b) =i () cowifS (d) Srafem
32. G G N S et 2T coRreTeIte Te eRItE q1T (R [Ans: d]
(a) forar (b) faerar (c) fRafrr= (d) TETHFHEN |
34, oICTE O @G AT 77? [Ans: d]
(a) TTIACHIBIE AR AL 2 (b) BT A So 1 Aeafere =
(c) TR SLAET AT ([@TC A (d) TAFTR Y BI9f (@S I
36. TBRINCEDG (&F @ =07 ifRiTs ol 157 [Ans: ¢]
(a) CHLEOIE (b) ferraret () ST (d) afez
38. WGl X0S (FIF G (19 S0 772 [Ans: c]
(a) T PR (b) B ¢1¥ (c) T @32 B (1Y (d) NK &
39. el SfEAfe SHfCemts TRt IR S S 09 cole S B 901? [Ans: b]
(a) TR (b) STATAHIZTEH (c) %R (d) 2P
40. e WA T cert R=rRrs tafier fic steaet SrafiEm? [Ans: 3]
(a) ATS (b) #if5 (€)1 (d) 7
4. TT e bt TermrRet 8 Bt Sug @1 Bt 2ot F, wrs 2 Sfoomm Rerp P oo M w?  [Ans:d
(a) 1:3:1 (b) 2:1:1 (c) 1:2:1 (d) 3:1:1
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6.

47.
48.
49.
50.

51.

54.

55.

56.

7.
38.

60,
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(310 %107 ®)10x 10-* (€) 0.1 x 1071 () T

77 (b); W=106gM =106,V = 1 - C=Wriooa _ sosaaven _ IM=10%10""M
W;WW Lﬁ-‘gﬁ?‘mm Moy 106 % 1000 ngiia}
(2)50; +Hz0 = Ha30; s+ 0, = 5, (©0H;+10, =H,0 () CO+0, =CO,

@5 TEA (FA 77 ‘ [Ans: a)
(a) AICl; (b) CeH, (c) H,50, (d) HNO,

AFEeaS AT Sfen Tae IR T o v e T e [Ans: a]
(a) FECTGT (b) == () TITOR () RO W

afce Cmﬁmmwzmacﬁfmmm7 |Ans: a]
(a) BB TR (h) 7z z=rg (c) TG TG () FAR-NTT TR

(@I AT T1g% (F1tA Redox o 23+ [Ans: d)
(a) Ni — Cd 7T0Tf2 (b) H; 0= &= (c) Li Tmoifa (d) =R =W ;

"ff"—" “ffaada (AG) #eTg= 777, =5t I & E e oww A |Ans: a) |

(a) W"’I"m )T @ () TRYWARE  (d) @D T

C,H;00 97 GO T @57 [Ans: c]
(a) Forcarf camem (b) Zrenf Trem (c) 2- Zranf e (d) 2- fcenfy caiee@

Cu, Cl; @R HCT 92 T Frermm Rz toft aum Seoms Aind oo 24 59 ST €19 @
faZd @ERres faueR: Sae swra F Teswy [Ans: ¢|
(a) CICAICAATT (b) (a=fem ©%q% (d) i afite

GBI TS RS T @162 [Ans: a]
() (o QREIFTE *&rs1 (b) 6T #12rm (c) 2:4 DNP =/ (d) YIARFAT 2]

fretAT @I I WHO s Tre? [Ans: d]
(a) *BIFTN QACEMCE  (b) BEER TG (c) WA AZGE (d) FawaD

STP (5 100 L NO 1% 2FS F4Ce ¥ [01@ NH, 2raras 2472

(2) 100 (b) 50 (c) 150 (d) 200
A (a); 4NH; + 50, - 4NO + 6H,0

ax22.4L exizaL

=100 L NO 5757 = 100 L NH;

KMnO, Tt Mn @ SR AR $67

(a) +7 (b) +5 (c) +3 (d) +6
FAYE: (a); Mn QG A AL x LA, (F1) +x+4 X (-2) =02 x-7=0=>x = +7
fof w1 vt ereres AN o S0 @H{? [Ans: a]
(a) HC (b) Fe (c) Pt (d) MnO,
Wﬁo‘%ﬁﬁn«m‘mﬁamﬁ” [Ans: d]
(a) Te(52) (b) Nb(41) (c) Xe(54) (d) Ce(58)

ST 2317 PRS2 [Ans: a]
(2) 2C0(g) + N, (g) (b) CO(g) +3Hz2(g) () CH4(g) +Hz(g)  (d) CO(g) + H,(g)
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24.
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35.

37.

42,

43.

59.

33.

Extra Syllabus
TERt foga orat a1 @1 Bfer?
(@) P (b) TS (©) A O
"Ry eI PRI T AT e T fRer? |
(a) Lindenmann (b) Oppenhelmer (c) Smith (4) Werming
SRR < TSR TR T (BT SfES? [Ans: 5
(a) TN (b) TReA! (c) e (d) ST
T (oo T A ? [Ans: 4
(a) ST (b) ceirEmIfEE (c) c2ATBIfe (d) Fof= ‘
P B M S S AR AT IS ? | [Ans: by
(a) Volvox (b) Chara (c) Microspora (d) Spirogyra
I fFefFa R ¢ agabRf@ 22fs Fr3m? [Ans: ¢
(a) STICTLHD (b) Toifem TrRTAATS
(c) FarnzoT TREfEmS (d) AT TIRATAS
ARG TETHR L8y I ? [Ans: by
(2) GFIR AZTEC @ G CFA AUTE (b) GFTR ARTAE & IRTATH (FT 4TS
() I AITEC 8 AT CF AT (d) IR TR & IETETE (FH YT
M e a3 S1w? Ans: d
(a) QT A AR I (b) ST @1 AgT) <
(c) SRL ST AR I (d) B BETR T (v ] @
SHTCETT FOH (/T AT RN TS I D2 [Ans: d
ANS:
(@) G (b) SRS sBRFaTsy
S ”é*"'m"'i"‘;ﬁw () ST e
G G @ ffife?
(a) Frefaremy (b) TTfEE By R —— " [Ans: b]
AR SR Barmet @R NGk
(a) ¥ gs ArcfiGnfams g [Ans: d]
y FOHIRER
OR SIS ER 0 151
o G (d) ¥IGS iy
(a) Faferm grem (b) Reb s o 2 [Ans: b]
memmmq@mmmmm e (@ foiz sresy
(a) HF < HCl < HBr (b) HBr > H( [Ans: c]
1 S HF ns. ."fé;.
m = CYHF > HCI> HBr (@) el > e » HBr
98 J
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